Notation Scientifique (G)

Ecrivez chaque nombre ci-dessous en notation scientifique.

900 000000 = 5240 =
490 000 = 260000000 =

8 654 = 842 000000 =

23 260 = 691 000 =
52000000 = 83110000 =
560 000000 = 35860000 =
68 000 = 6 600 000 =
89 000 = 13 040 =
950 000 = 74 260 =
94000000 = 7 643 000 =
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Notation Scientifique (G) Solutions

Ecrivez chaque nombre ci-dessous en notation scientifique.

900 000 000

490 000

8 654

23 260

52 000 000

560 000 000

68 000

89 000

950 000

94 000 000

9 x 108

4,9 x 10°

8,654 x 10°

2,326 x 10*

5,2 X 107

56 % 10°

6,8 x 10*

8,9 x 10*

9,5 x 10°

9,4 x 107

5240

260 000 000

842 000 000

691 000

83110000

35860 000

6 600 000

13 040

74 260

7 643 000

5,24 x 10°

2,6 x 10°

8,42 x 10°

6,91 x 10°

8,311 x 107

3,586 x 107

6,6 X 10°

1,304 x 10*

7,426 x 10*

7,643 x 10°
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